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SECTION 1
Time — 30 minutes
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16.

17.

18.

19.

Mr. Gifford wishes to put 372 eggs into cartons that
can hold 12 eggs each. If he has 50 empty cartons
and completely fills as many of them as possible
with the 327 eggs, how many of the cartons will
remain empty?

(A) 12

(B) 15

(©) 19

(D) 28

(B)31

Which of the following numbers is greatest?
(A) -0.225

(B) -0.0225

(C) -0.323

(D) -0.0325

(E) -0.3205

If a certain automobile gets between 20 and 24 miles
per gallon of gasoline, inclusive, what would be the
maximum amount of gasoline, in gallons, this
automobile would consume on a trip of 360 miles?
(A) 20.0

(B) 18.0

(C) 164

(D) 16.0

(B) 15.0

Ify -x=2andy -z =3, which of the following best
represents the relative positions of x, y, and z on the

Questions 21-23 refer to the graph below.
NUMBER OF SELECTED PERSOMAL COMPUTERS SOLD.
1892-19835(in millions)

IEM

number line? (Note: The figures are drawn to scale.)
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21.

22.

By what percent did the number of persond
computers sold by Compagq increase from 1992 to
19937

(A) 50%

(B) 65%

(C) ™%

(D) 100%

(E) 110%

In 1992, Packard Bell accounted for what percent of
the computers sold by the four companies listed?
(A) 6%

(B) 9%

(C) 10%

Questions 24-25 refer to the following table.

FXPECTED MUMBEE. OF GEADUATES IN THE UMITED STATES
BY DEGEEE GEAMNTED BETWEEN 19085 AND 2001(1in thousands)

24,

25.

(D) 12%
(E) 14%
23. If the ratio of the number of personal computers sold
by IBM Compag, and Tandy (not shown) in 1993
was 6 to 4 tol, respectively, approximately how
many personal computers were sold by Tandy in
1993?
(A) 350,000
(B) 400,000
(C) 450,000
(D) 500,000
(E) 550,000

High Hchool | Associate Bachelot’s Ifaster’s Doctoral
Diplota Degrees Degres Degree Degres
1995 2,329 458 1,047 324 36
1997 2,452 463 1,015 324 36
1959 24,587 477 1,010 325 36
2001 2,265 459 1,037 3 36

For the categories given, which category accounts

1
for approximately Z of the total number of

graduates expected for each off the years shown?
(A) High school diploma

(B) Associate degree

(C) Bachelor's degree

(D) Master's degree

(E) Doctoral degree

The number of associate degrees expected to be
granted in 2001 is most nearly what percent greater
than the number of associate degrees expected to be
granted in 19957

(A) 2%

(B) 3%

(©) 5%

(D) 7%

(E) 9%

26. If the area of the shaded region of the square above
is 20, what is the perimeter of the square?

(A) 445
(8) 845

(©) 16+/5

(D) 80
(E) 400
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27. 1f x= 1 and y= i,themy:
y 1-x
(A) 2
1

(®) >

1
©) P
(D) -1
(E) -2
28. If 720 is the product of the consecutive integers
beginning with 2 and ending with n, what is the
value of n-1?
(A) 5
(B) 6
(C) 8
(b)) 11
(E) 23

29. When it was found that 150 more tickets for the
school play were sold than the seating capacity of
the auditorium. It was decided to have two

performances. if the total number of tickets sold was

equal to the total number who attended and if the

auditorium was z full for each of the two

performances, what is the seating capacity of the
auditorium?

(A) 100

(B) 200

(C) 225

(D) 300

(E) 450

30. If n=pgr, where p, g, and r are three different
positive prime numbers, how many different
positive divisors does n have, including | and n?
(A) 3

B) 5

(C) 6

(D) 7

(E) 8
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SECTION 2
Time —30 minutes
38 Questions

1. Though ---- to some degree, telling a smal lie
sometimes enables one to avoid ---- another's
feelings.

(A) necessary.. mallifying

(B) regrettable.. harming

(C) unfortunate.. exaggerating
(D) attractive.. considering
(E) difficult.. resisting

2. Perhaps because scientists have been so intrigued by
dogs superior sensesd smell and hearing, researchers
have long ---- their eyesight, assuming that they
inhabit a drab, black-and-white world, devoid of
color.

(A) studied

(B) coveted

(C) appreciated
(D) resented

(E) underestimated

3. Despite a string of dismal earnings reports, the

two-year-old strategy to return the company to
profitability is beginning to ----.

(A) falter

(B) disappoint

(C) compete

(D) work

(E) circulate

4. The President reached a decision only after lengthy

------ , painstakingly weighing the ----opinions
expressed by cabinet members.

(A) deliberation.. divergent

(B) confrontation.. unanimous

(C) relegation.. consistent

(D) speculation.. conciliatory

(E) canvassing.. arbitrary

5. Although just barely ---- as awriter of lucid prose,
Jones was an extremely ---- editor who worked
superbly with other writers in helping them improve
the clarity of their writing.
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(A) deficient.. muddling
(B) proficient.. contentious
(C) adequate.. capable

(D) appalling.. competent
(E) engaging.. inept

6. The accusations we bring against others should be
---- ourselves; they should not ---- complacency
and easy judgments on our part concerning our own
moral conduct.

(A) definitions of.. produce
(B) instructions to.. equate
(C) denigrations of .. exclude
(D) warnings to.. justify

(E) parodies of .. satirize

7. Although the meanings of words may necessarily be
liable to change, it does not follow that the lexicog-
rapher is therefore unable to render spelling, in a
great measure, ----.

(A) arbitrary
(B) superfluous
(C) interesting
(D) flexible

(E) constant

8. ELEGIAC: SORROW::
(A) polemical: resolution
(B) fictional: humor
(C) devotiond: reverence
(D) didactic: inspiration
(E) literary: emotion

9. ROSTRUM: ORATOR::
(A) stage: audience
(B) bench: judge
(C) shelf: clerk
(D) municipdity: citizen
(E) crosswalk: pedestrian

10. MISUNDERSTOOD: CLARIFY
(A) fanatical: espouse
(B) popular: renounce
(C) fantastic: shock
(D) erroneous: retract
(E) conspicuous: flaunt

11. REFINERY: PETROLEUM::
(A) mill: grain
(B) mine: ore
(C) warehouse: merchandise
(D) generator: electricity
(E) forest: lumber

12. TEDIOUS: ENERGY ::
(A) avaricious: satisfaction
(B) fractious: irritation
(C) disturbing: composure
(D) improbable; ambition
(E) informed: intelligence

13. GRACEFUL: MOVEMENT::
(A) euphonious: sound
(B) forbidding: countenance
(C) ephemeral: duration
(D) melodramatic: emotion
(E) vibrant: color

14. BRAVURA: PERFORMANCE::
(A) extravagant: expenditure
(B) elaborate: oration
(C) foreseeable: outcome
(D) thorough: analysis
(E) resplendent: appearance

15. BADGER: BOTHER::
(A) persecute: injure

(B) haunt: remember

(C) belabor: mention

(D) quibble: argue

(E) censure: evaluate

16. CONGRUENT: DIMENSIONS::
(A) convenient: time
(B) coordinate: axis
(C) conglomerate: parts
(D) coincident: chance
(E) coeval: age

It is possible for gudents to obtain advanced degreesin
English while knowing little or nothing about traditiond
scholarly methods. The consequences of this reglect of
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traditiona scholarship are particularly unfortunate for the

(5) study of women writers. If the canon—theligt of authors
whoseworks are most widdy taught—isever to incdude
more women, scholars must bewdll trained in historical
scholarship and textud editing. Scholars who do not know
how to read early manuscripts, locate rare books, establish

(10)a sequence of editions, and S0 on are bereft of crucid tools
for revising the canon.

To address such concerns, an experimentd verson d
the treditiond scholarly methods course was designed to
raise sudents consciousness about the usefulness of

(15)traditiond learning for any modern critic or theorist. To
minimize the artificia agpects of the conventiond course,
the usud procadure of assgning alarge number of amall
problems drawn from the entire range of historicad periods
was abandoned, though this procedure has the obvious

(20)advantage of at least superficidly familiarizing sudents
with awide range of reference sources. Ingtead sudents
were engaged in a collective effort to do origind work on
aneglected eighteenth-century writer, Elizabeth Griffith, to
give them an authentic experience of literary scholarship

(25)and to inspire them to take responsibility for the qudity of
their own work.

Griffith'swork presented a number of advantages for
this particular pedegogicd purpose. Firdt, the body of
extant scholarship on Griffith was so tiny thet it could dl

(30)beread in aday; thus students spert little time and effort
madtering the literature and had a deer field for their own
discoveries Griffith's play The Rlatonic Wife exigsin three
versons, enough to provide illugtrations of editorid isues
but nat too many for beginning sudentsto manage. In addi-

(35)tion, because Griffith was successful in the eighteenth cen-
tury, as her continued productivity and favorable reviews
demondrate, her excluson from the canon and virtud dis-
gopearance from literary history dso helped raise issues
concerning the current canon.

(40) Therangeof Griffith'swork meant that each student
could become the world's leeding authority on a particular
Griffith text. For example, a sudent studying Griffith's
Wifein the Right obtained afirgt edition of the play and
dudied it for some weeks. This student was suitably

(45)shocked and outraged to find itstitle transformed into A
Wifeinthe Night in Wett's Bibliotheca Britannica. Such
experiences, inevitable and common in working on awriter
to whom =0 little attention has been paid, serveto vaccinate
the sudent ---1 hope for alifetime—againg credulous use
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of reference sources.

17.The author of the passage is primarily concerned with

(A) revealing a commonly ignored deficiency

(B) proposing areturn to traditional terminology

(C) describing an attempt to correct a shortcoming

(D) assessing the success of a new pedagogical
approach

(E) predicting a change in atraditiona teaching
Strategy

18.It can be inferred that the author of the passage expects
that the experience of the student mentioned as having
studied Wife in the Right would have which of the fol-
lowing effects?

(A) It would lead the student to disregard information
found in the Bibliotheca Britannica.

(B) 1t would teach the student to question the accuracy
of certain kinds of information sources when
studying neglected authors.

(C) It would teach the student to avoid the use of refer-
ence sources in studying neglected authors.

(D) It would help the student to understand the impor-
tance of first editions in establishing the author-
ship of plays.

(E) It would enhance the student's appreciation of the
works of authors not included in the canon.

19. The author of the passage suggests that which of the
following is a disadvantage of the strategy employed in
the experimental scholarly methods course?

(A) Students were not given an opportunity to study
women writers outside the canon.

(B) Students original work would not be appreciated
by recognized scholars.

(C) Little scholarly work has been done on the work
of Elizabeth Griffith.

(D) Most of the students in the course had had little
opportunity to study eighteenth-century literature.

(E) Students were not given an opportunity to encoun-
ter certain sources of information that could

prove useful in their future studies.

20. Which of the following best states the "particular
pedagogica purpose’ mentioned in line 28?
(A) To assist scholars in revising the canon of authors
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(B) To minimize the trivial aspects of the traditional
scholarly methods course

(C) To provide students with information about
Griffith'swork

(D) To encourage scholarly rigor in students' own
research

(E) To reestablish Griffith's reputation as an author

21. Which of the following best describes the function of
the last paragraph in relation to the passage as a
whole?

(A) It summarizesthe benefits that students can derive
from the experimentd scholarly methods course.

(B) It provides additional reasons why Griffith's work
raises issues having to do with the canon of
authors.

(C) It provides an illustration of the immediate nature
of the experiences students can derive from the
experimental scholarly methods course.

(D) It contrasts the experience of a student in the
experimental scholarly methods course with the
experience of a student in the traditional course

(E) It provides information that emphasizes the suita-
bility of Griffith'swork for inclusion in the
canon of authors.

22. It can be inferred that which of the following is most
likely to be among the "issues’” mentioned in line 387
(A) Why has the work of Griffith, awoman writer
who was popular in her own century, been
excluded from the canon?

(B) In what ways did Griffith's work reflect the polit-
ical climate of the eighteenth century?

(C) How was Griffith's work received by literary
critics during the eighteenth century?

(D) How did the error in the title of Griffith's play
come to be made?

(E) How did critical reception of Griffith's work
affect the quantity and quality of that work?

23. It can be inferred that the author of the passage con-
siderstraditional scholarly methods coursesto be
(A) irrelevant to the work of most students
(B) inconsequential because of their narrow focus
(C) unconcerned about the accuracy of reference
sources

(D) too superficial to establish important facts about
authors

(E) too wideranging to approximate genuine scholarly
activity

Experiments show that insects can function as pallinetors
of cycads rare, pamliketropicd plants. Furthermore, cycads
removed from their native habitats—and therefore from
insects native to those habitats—are usudly infertile. Nev-

(5) ertheless, anecdota reports of wind pallination in cycads
cannot beignored. The gtructure of cycads mae conesis
quite consistent with the wind dispersd of pallen, clouds
of which are released from some of the larger cones. The
mde cone of Cycas circinalis for example, sheds dmost

(10)100 cubic centimeters of pollen, mogt of which is probebly
dispersed by wind. Still, many male cycad cones are com-
paratively smdl and thus produce far less pallen. Further-
more, the sructure of mogt femde cycad cones seemsincon-
sdent with direct pollination by wind. Only in the Cycas

(15)genus are the famdes ovules accessbleto arborne pollen,
gnceonly in thisgenus are the ovules surrounded by a
loose aggregation of megasporophylls rather then by atight
cone

24.According to the passage, the size of amale cycad

cone directly influences which of the following?

(A) The arrangement of the male cone's structural
elements

(B) The mechanism by which pollen is released from
the male cone.

(C) The degree to which the ovules of female cycads
are accessible to airborne pollen

(D) The male cone's attractiveness to potential insect
pollinators

(E) The amount of pollen produced by the male cone

25. The passage suggests that which of the following is
true of the structure of cycad cones?

(A) The structure of cycad cones provides conclusive
evidence in favor of one particular explanation
of cycad pollination.

(B) The structure of cycad cones provides evidence
concerning what triggers the first step in the
pollination process.

(C) Aniirresolvable discrepancy exists between what
the structure of most male cycad cones suggests

36
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about cycad pallination and what the structure of
most female cones suggests about that process.

(D) The structure of male cycad cones rules out a
poss ble mechanism for cycad pollination that is
suggested by the structure d most femae cycad
Cones.

(E) The structure of male cycad cones is consistent
with a certain means of cycad pollination, but
that means is inconsistent with the structure of
most female cycad cones.

26. The evidence in favor of insect pollination of cycads
presented in lines 2-4 would be more convincing if
which of the following were also true?

(A) Only asmall variety of cycad species can be
successfully transplanted.

(B) Cycads can sometimes be pollinated by means
other than wind or insects.

(C) Insects indigenous to regions to which cycads are
transplanted sometimes feed on cycads.

(D) Winds in the areas to which cycads are usually
transplanted are similar to winds in cycads
native habitats.

(E) The transplantation of cycads from one region to
another usually involves the accidental removal
and introduction of insects as well.

27. The passage suggests that which of the following is
true of scientific investigations of cycad pollination?
(A) They have not yet produced any systematic evi-
dence of wind pollination in cycads.

(B) They have so far confirmed anecdotal reports con-
cerning the wind pollination of cycads.

(C) They have, until recently, produced little evidence
in favor of insect pollination in cycads.

(D) They have primarily been carried out using cycads
transplanted from their native habitats.

(E) They have usualy concentrated on describing the
physical characteristics of the cycad reproductive
system.

28. PROCRASTINATION:
(A) diligence
(B) complacence
(C) reasonableness
(D) dlegiance

(E) rehabilitation

29. CIRCUITY
(A) straightforwardness
(B) inventiveness
(C) authenticity
(D) insightfulness
(E) practicality

30. CONCLUDE:
(A) foster
(B) frequent
(C) emanate from
(D) empower to
(E) embark on

31. RITE:
(A) coherent interpretation
(B) improvised act
(C) deductive approach
(D) casual observation
(E) unnecessary addition

32. BLATANT:
(A) indecisive
(B) perceptive
(C) unobtrusive
(D) involuntary
(E) spontaneous

33. PONTIFICATE:
(A) request rudely
(B) glance furtively
(C) behave predictably
(D) work efficiently
(E) speak modestly

34. POSIT:
(A) deceive
(B) begrudge
(C) deny
(D) consent
(E) reinforce

37



GRE10-2

35. FETTER:
(A) justify
(B) comfort
(C) intrude
(D) liberate
(E) optimize

36. SYNERGIC:
(A) natural in origin
(B) fragilein structure
(C) untainted
(D) inessentia
(E) antagonistic

37. DEPRIVATION:
(A) sanity
(B) awareness
(C) surfeit
(D) fecundity
(E) hedlth

38. CORPOREAL:
(A) unreliable
(B) unscientific
(C) indistinguishable
(D) inanimate
(E) immateria
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SECTION 3
Time —30 minutes
25 Questions

1. Armtech, a temporary-employment agency, previoudy

gave its employees 2.5 paid vacation days after each
700 hours worked. Armtech's new policy isto give
its employees 5.0 paid vacation days after each 1,200
hours worked. Therefore, this new policy is more
generous to Armtech employees in giving them more
vacation days per hour worked than the old policy did.

Which of the following is an assumption on which

the argument depends

(A) Most current Armtech employees approve of the
company's new vacation policy.

(B) A few Armtech employees leave the company
before having worked 700 hours.

(C) Most Armtech employees were not aware that
the company planned to change its vacdion
policy until after it had already done so.

(D) A significant portion of Armtech employees stay
with the company long enough to work for
1,200 hours.

(E) Armtech's new vacation policy closely matches
the vacation policies of competing temporary
employment agencies.

2 The globa population of frogs has declined in recent

years while the amount of ultraviolet radiation reaching
the Earth has increased. Since the genetic material in
frog eggs is harmed when exposed to ultraviolet radi-
ation, and since the eggs themselves are not protected
by shells or leathery coverings but are gelatinous, the
frog population decline is probably due, at least in
part, to the ultraviolet radiation increase.

Which of the following, if true, provides the strongest

support for the argument

(A) Even in those regions where there has been no
sgnificant increase in ultraviolet radiation, only
asmall proportion of the frog eggs that are laid
ever hatch.

(B) In areas where there has been the least decline
in frog populations, populations of species of
insects that frogs eat have decreased.
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(C) The eggs of frog species whose populations are
declining tend to have higher concentrations of
damaging pesticides than do the eggs of frog
species whose popul ations have not declined.

(D) In many places where turtles, which lay eggs
with tough, leathery coverings, share habitats
with frogs, turtle populations are aso in decline.

(E) Populations of frog species that hide their eggs
beneath rocks or under sand have declined
considerably less than have populations of frog
species that do not cover their eggs.

Questions 3-8

A doctor is scheduling one appointment each with five
patients—J, K, L, M, and N. The five appointments will
be consecutive and are numbered 1 through 5, from
earliest to latest. The doctor must schedule at least four of
the patients for appointments preferred by those patients
and cannot schedule any patient for an appointment unac-
ceptable to that patient. The following is a complete list
of what the patients prefer and, if they do not receive
their preferences, will accept

J prefers an appointment earlier than appointment 3, but
will accept any appointment.

K prefers appointment 2, but will accept any appoint-
ment except appointment 1.

L prefers gopointment 1, but will accept appointment 5.

M prefers and will accept only an appointment later
than appointment 3.

N prefers and will accept only appointment 3.

3.Which of the following lists the patients in an order

in which their scheduled appointments can occur,
from appointment 1 through appointment 5

(A)J K,N,L,M

(B)J M, N, K, L

O K,J N, M, L

(D)L, J K,N,M

(BE)L, N, M, K

4.1f Jis scheduled for appointment 2, which of the
following can be true
(A) K is scheduled for appointment 3.
(B) K is scheduled for appointment 4.
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(C) Lis scheduled for appointment 4.
(D) L is scheduled for appointment 5.
(E) M is scheduled for appointment 1.

5.1f L is scheduled for appointment 5, which of the
following must be true
(A) Jis scheduled for appointment 1.
(B) Jis scheduled for appointment 2.
(C) Jis scheduled for appointment 4.
(D) K is scheduled for appointment 4.
(E) N is scheduled for appointment 5.

6.Which of the following is a complete and accurate
list of patients any one of whom can be the patient
scheduled for appointment 2
(A)K
(B)J K
©JIM™m
(D) J K, L
(BE) K, L, M

7.1f M is scheduled for appointment 5, which of the
following can be true of the scheduling
(A) Js appointment is appointment 1.
(B) N's appointment is appointment 1.
(C) Js appointment is earlier than K's appointment.
(D) K's appointment is earlier than L's appointment.
(E) N's appointment is earlier than L's appointment.

8.1f K's appointment is scheduled for atime later than
N's appointment, which of the following must be true
(A) Jis scheduled for appointment 4.
(B) K is scheduled for appointment 5.
(C) L is scheduled for appointment 1.
(D) M is scheduled for appointment 4.
(E) N is scheduled for appointment 2.
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Questions 9-10 are based on the following graph.

In January of 1990 a certain country enacted a strict new law to deter people from drunken driving. The law imposes

mandatory jail sentences for anyone convicted of drunken driving.

MUMBER OF ARRESTE AND
COMVICTIONS FOR DRUNKEN DRIVING

50
40

_——--——"" Arrests

30

"N _ __ Convictions

Thousand
20

10

9Which of thefollowing, if true about the years 1990
through 1992, mogt helps to explain the data illus-
trated in the graph
(A) Mo of the people arrested for and convicted of

drunken driving were repesat offenders.

(B) Many of the people arrested for and convicted of
drunken driving participeted in d cohol-education
programs in order to reduce their jail sentences.

(C) duriesin drunken driving cases became increas-
ingly reluctant to convict people on whom
mandatory jail sentences would be imposad.

(D) Sincethe law was enacted, the number of deaths
attributed to drunken driving has declined
sgnificantly.

(E) The mgjority of the residents of the country
supported the grict law to deter people from
drunken driving.

10.Which of the following, if true, srengthensthe daim

that the changesin the ratio of arreststo convictions

gnce the beginning of 1990 are dueto anincreasein

the number of people arrested for drunken driving

who were not drunk

(A) Before 1990 only people driving eraticdly were
stopped by the police on suspicion of drunken
driving, but snce the beginning of 1990 police
have been dlowed to stop drivers randomly
and to arest any driver whom they suspect of
having drunk any acohal.

(B) Since the beginning of 1990 new technology hes
enabled police who stop adriver to establish
immediately whether the driver isdrunk,

40

1985 1986 1987 1988 19591930 1991 1952

Year

whereas before 1990 police had to rdly on
observations of adriver's behavior to meke a
judgment about that driver's drunkenness.

(C) After 1990 the number of police officers assgned
to patrol for drunken driversincreased only
very dightly compared to the number of police
officers assigned to patral for drunken drivers
in the years 1985 through 1939.

(D) In 1990 a grester number of driverswereigno-
rant of the laws concerning drunken driving
than were ignorant of the drunken driving laws
in 1989.

(E) After 1990 teenagers and young adults condtituted
agreger proportion of those arested for drunken
driving than in the years 1985 through 1989.

11 To improve productivity, manufacturing companies
have recently begun restructuring work to produce
more goods with fewer assembly-lineworkers, and
the companies havelad off many workersasa
conseguence. Theworkerslaid off have been those
with the leest seniority(time on the job), generdly
the younger workers.

The statements above, if true, most srongly support

which of the following asacondusion

(A) The products manufactured by the companiesare
not undergoing design changes whilethe
manufacturing jobs are being restructured.

(B) When assembly-line workers have made sug-
gedtions for improvements in manufacturing
processes, some suggestions have been
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implemented, but many have not.

(C) Assembly-line workers now need incressed
reading and mathemeticd killsto do their
jobs.

(D) Some of the innovationsin assembly-line
processes and procedures thet were made to
increase productivity have ingtead proved to be
counterproductive.

(E) The manufacturing companies areincreasing the
average age of thelr assembly -lineworkforce
while dill seeking to increase production.

12.During the nineteenth century, Britain's urban popu-
lation increased asits rurd populaion diminished. A
higtorian theorizes that, rather than indudtridizetion's
being the cause, this change resullted from a series
of migrationsto urban aress, each occasioned by a
depresson in the agrarian economy. To test thishypoth
eds, the histarian will compare economic datawith
population census data.

The higtorian's hypothesis would be most strongly
supported if which of the following were found to be
true

(A) The periods of greetest growth in the industrid
economy were associated with arddively
rapid dedinein the rurd population.

(B) The periods of greatest wesknessin the agrarian
economy were associated with rdlatively dow
growth in the population asawhole.

(C) Periods when the agrarian economy was compear -
aivey srong and the industrid economy com-
pardtively week were associated with aparticu
larly rgpid decline in the rura population.

(D) Periodswhen the agrarian and industria econo-
mies were both strong were associated with
particularly rgpid growth in the urban popula
tion.

(E) The periods of greatest srength in the agrarian
economy were associated with rdatively dow
growth in the urban population.

Quedtions 13-16

On each of the three consecutive days Monday through
Wednesday, exactly two employees are to q&ff acom-
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pany'sinformation boath. The three available employees
—Feng, Gdmez, and Hull—will &ff the booth in
accordance with the following conditions

GOmez and Hull must each saff the booth on at leest
one of the days but Feng mugt 9t it on e leest two
the days.

The booth cannot be deffed by the same two employees
on ay two consecutive days.

If Hull steffsthe booth on Monday, Gdmez must bethe
other employee g&ffing the booth on Monday.

13.Which of thefallowing can be the schedule of
employees g&ffing the booth on the three day's

Monday Tuesday Wednesday
(A) Feng,Gomez Feng,Gomez  Feng,Hul
(B) Feng,GOmez Feng,Hul Gomez,Hull
(C) Feng,Hull Feng,Gomez  GomezHull
(D) Gémez,Hull Feng,Gomez  GOmezHull
(E) Gdmez,Hull Feng,Hull Feng,Hul

14.1f Gdmez stafsthe booth on Monday and Tuesday,
which of thefollowing must betrue
(A) Feng gtaffs the booth on Monday.
(B) Feng staffs the booth on Tuesday.
(C) Feng gaffsthe booth on Wednesday.
(D) Hull gaffsthe booth on Monday.
(E) Hull &ffs the booth on Tuesday.

15.f Hull gaffsthe booth on Monday and Wednesday,
which of thefollowing mugt betrue
(A) Feng and Gdmez gt the booth on Tuesday.
(B) Feng and Hull &&ff the booth on Monday.
(C) Feng and Hull g&ff the boath on Tuesday.
(D) Gémez and Hull g&ff the booth on Tuesday.
(E) Gdmez and Hull g&ff the booth on Wednesday.

16.If Hull staffsthe booth on only one of the days,
which of the following can betrue
(A) Feng and Hull taff the boath on Monday.
(B) Feng and Hull gt&ff the booth on Wednesday.
(C) Gdmez and Hull &ff the booth on Monday.
(D) Gémez and Hull st&ff the booth on Tuesday.
(E) Gdmez and Hull g&ff the booth on Wednesday.
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Questions 17-22

A stience teecher is sdlecting projects for each of two
dassesfrom a group of exactly seven projects—R, S,
T,V, X, Y, and Z. Theteacher will asdgn projectsto
Class 1 and Class 2 according to the following
conditions
Each project must be assigned to exactly one dass.
Four of the projects must be assigned to Class 1 and
three to Class 2.
R mugt be assigned to Class 2.
Thecdasstowhich V isassgned cannot bethe same
dassasthe oneto which Y is assgned
If V isassgned to Class 1, X mugt be assigned
to Class 1.
If Zisassgned to Class 2, Y mug be assgned to
Class1.

17.Which of thefdlowing could bethe projects assigned
to thetwo classes
Class1 Class2
ARV, XY STZ
B)ST,V,Z RXY
©SsST,X,Y RVZ
D)ST,X,Z RV)Y
BSV.X,Y RTZ

18.If X isassigned to Class 2, which of thefollowing
must betrue
(A) Risasdgnedto Class 1.
(B) Sisassgned to Class 2.
(© Tisasdgnedto Class 2.
(D) Y isassignedto Class 1.
(E) Zisassgnedto Class 2.

19.If Z isasdgned to Class 2, which of the following
must betrue
(A) Sisassgnedto Class 2.
(B) Tisassgnedto Class 2.
(©)V isasdgnedto Class 1.
(D) X isasdgned to Class 1.
(B) Y isasdgnedto Class 2.

201f Y isassgned to Class 2, any of thefollowing
could be assgned together to one of the dasses
EXCEPT
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(A)RandT
B)SandT
(©) SadY
(D) TadZ
E X adz

2LIf T isasdgned to the same dassas V, which of the
fallowing must be assigned to the same dass as each
other
(A)RadT
(B) Sand X
(©sadY
D)X adY
BYadz

221f V isassgned to adifferent dass from Z, which of
the following must be true
(A) Sisasdgnedto Class 1.
(B) Sisasdgnedto Class 2.
(©) Tisassgnedto Class 2.
(D) V is assigned to Class 2.
(BE) X isassigned to Class 1.

23 Politician  Each year, amd| businesses cregte more
jobsthan do large established businesses.
Therefore, in order to reduce unemploy-
ment in the long term, we should provide
incentivesfor garting small businesses
rather than for expanding established large
businesses

Which of thefallowing, if true, casts the most doulot

on the palitician's argument

(A) In generd, people employed by smdl businesses
report higher job satisfaction than dopeople
employed by large businesses.

(B) Among the currently unemployed are many
people with sufficient job skillsto perform the
jobsthat smdl businesseswould cregte.

(C) Providing an effective incentive for darting a
business generdly cogs significantly lessthan
providing an effective incentive for expanding
alarge busness.

(D) A high proportion of smdl busnessesfal within
three years of starting because of ther owners
inexperience.



GRE10-2

(E) The average large business contributes more
money to paliticians’ campaign fundsthan the
average smd| business does.

24 Inthe workplace, influenzais typicdly soreed by
infected individual s to others with whom they work

in dose guarters. A new medication that suppresses
the symptoms of influenza therefore will actudly
increase the number of influenza cases, because this
medication will dlow people who would ctherwise be
homein bed to return to work while infected.

Which of thefallowing, if true, most serioudy chat

lengestheprediction

(A) Coughing, asymptom of influenzathat the new
medication suppresses, is a primary mechaniam
in the spread of thisillness

(B) Some medications that are used to suppress
symptoms of influenza are dso used by many
peopleto treat symptomsthat are caused not
by influenza but by other illnesses

(©) Many workers who now remain a home when
infected with influenza.do so becausethe
symptoms of influenza prevent them from per-
forming their jobs effectively.

(D) Mog adults who areimmunized againgt influ-
enzain order to avoid being infected are over
65 years old and retired and thus do not work
outsde the home.

(E) Symptoms of anillness are often the body's
means of curing itsdf of theillness, and there
fore suppression of symptoms can prolong the
illnessthat causesthem.

25 Editorid

Criticsof nudear power complain about the alegedly
sriousharm that might result from continued operation
of exigting nudear power plants. But such concarns do
not judtify dogngtheseplants  dter dl, thar operation
has caused no more harm than thet caused by pallution
generated by cod-and ail-burning power plants, the
mogt important other sources of energy.

Which of the following is an assumption on which the
argument depends
(A) BExiging nudeer power plants should be dasad only

if it can be conclusvely demondtrated that their
continued operation islikdy to cause harm more
seriousthen the harm their operation has dreedy
caused.

(B) Closing exigting nudeer power plantswould require
gregtly increesed rdliance on coakand ail-burning
power plants

(C) The harm that has resulted from operation of
existing coa-and oil-burning power plants has
been sgnificant.

(D) The harm thet anuclear power plant islikely to
cause asit continues to operate can be rdiably
predicted from the pest history of nudear power
plants.

(E) The only harm that has resulted from operation of
existing coak-and oil-burning power plants has
resulted from the pollution generated by these
plants.
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SECTION 4
Time—-30 minutes
25 Quedtions

Quedtions 1-7

A museum will diplay seven datues—P, Q R, S T, U,
and W—in two of its gdleries, gdlery 1 and gdlery 2.
Exactly four of the satueswill bedigplayedin gdlery 1
and exactly three of the statues will be displayed in
gdlery 2. The gtatues will be displayed according to the
following conditions:

U cannot be displayed in a gdlery with W

Neither Snor T can be digplayed in agdlery with R.

1If Uisdglayed n gdlery 2, which of thefallowing
must be true?
(A) Pisdigilayed in gdlery 1.
(B) Risdiglayed in gdlery 2.
(C) Sisdiglayed in gdlery 1.
(D) T isdiglayedin gdlery 2.
(BE) Wisdigllayedin gdlery 1.

2If Sisdisplayed in gdlery 2, the other two Satues
displayedin gdlery 2 canbe
A)PandQ
B)PadT
©QadT
(D) TandW
BUadwW

3If Pisdiglayed in gdlery 1 and W is diplayed in
gdlery 2, thenthedisplay in gdlery 1 canindude
any of thefollowing pairs of satues EXCEPT
(A)QandR
(B)QandT
©QandU
DO)RadU
(B)SadT

41f Pand Q aredigplayed in gdlery 1, which of the
fallowing is agatue that must dso be displayed in
gdley 1?
(AR
(B)S

©T
D)U
(SR

5.f Sisdisplayed in gdlery 1, which of the following

must betrue?

(A) Pisdiglayedin gdlery 1.

(B) Qisdisplayed in gdlery 1.

(©) Rand U aredigdlayed inthe same gdlery as
each other.

(D) Pand Q are not digplayed in the same gdlery as
each other.

(B) Q and R are not digplayed in the same gdlery as
eech other.

6.If T isdigplayed in gdlery 2, which of thefollowing

isapair of gatuesthat CANNOT be displayed in the
same gdlery as eech other?

(A)PadsS

(B)QandR

©) QadW

(D)RadU

(BTadW

7.1f Qisdiglayed inthe same gdlery as S. Which of
the following must be true?
(A) Pisdigdlayedingdlery 1.
(B) Risdisplayed in gdlery 2.
(C©) Qand Saediglayed in gdlery 2.
(D) Pisdigplayed in the same gdlery asW.
(B) Ris diglayed in the same gdllery as U.

8 Drug manufacturer: Although our company requires
that patients who use our new drug aso pur-
chase from us nonreusable kits for weekly
blood tegting, the expense of those kitsisan
entirely necessary one: weekly blood testing
must be done to monitor the drug's potentid
sde effects, which can be very dangerous.

Which of thefollowing, if true, most serioudy week-

ens the manufacturer's argument?

(A) Theexpense of purchasing the blood-test kits
has not prevented any patients from obtaining
them or the drug.

(B) Medicd laboratories can perform the blood tedt-
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ing & alower cod to patients or their insurers
than the price the manufacturer chargesfor the
kits

(C) A oneyear supply of the drug and the weekly
blood-test kits can cost patients or their
insurers over $10,000.

(D) Mogt government and cther hedlth insurance
programswill not reimburse patients for the
full cogt of both the drug and the blood-test
kits.

(E) Pdtientswho suffer one or moreaof the danger-
ous Sde effects of the drug can incur heavy
expensssfor the trestment of those sde effects.

9 Virginiaand her brother William disagree over when
their father was born: Virginiadamsit wasin 1935
and William damsit wasin 1933. The hospitd
where ther father was born has no records for 1933
but has complete records for 1935—records that do
not incdlude a birth record for their father. Therefore,
he mugt have been born in 1933.

The argument depends on which of the following

assumptions?

(A) Either Virginidsdam or William'sdam is
correct.

(B) The records of the hospitd where their father
was born date back to 1933.

(©) Virginiaand William know the day and the
month of their fether'shirth.

(D) There areurgent practicd reasonswhy Virginia
and William must know the date of their
father's birth.

(E) None of their other rdlatives knowsthe yeer in
which Virginiaand William's father was born.

10. RESULTSOF TWO SURVEY SOF OPINIONS
REGARDINGTHE EFFECTS OF SCIENCE OF
HUMAN SOCIETY

Responsss  Augudt 1991 August 1992

Mostly beneficial 25%  81%

Equaly harmful 3% %
and beneficid

Moastly harmful 20% 7%

No opinion 18% 3%

Which of thefollowing, if true, contributes most to
explaining the shift in opinions about the effects of science
on human society?

(A) The surveys questioned people who regularly waich
primetime televison, and an innovative weekly
primetime television series caled "Wonders of
Science'had been gteadily winning viewerssinceits
widdy seen premiere in January 1992,

(B) The surveys questioned college-educated adults, and a
report cdled "The State of the Nation's Schools,”
published in June 1992, noted an incregse in Sudents
interest in science courses Since 1982.

(C) The surveys were conducted in a suburban shopping
areanear acompany that cessad operation in April
1992 as aresult of lawsuits arising from unexpected
toxic effects of the company’s products.

(D) Both survey forms were mailed to equaly large
samples of the population; after returning the 1991
survey forms, respondents were sent discount
coupons for food products, and after returning the
1992 survey forms, respondents were sent a pamphlet
on recycling.

(E) The surveys questioned firg-year college sudents
across the country, and the people who did the
questioning were dl research scientigts.

Quedtions 11-17

A stience reporter will meke atrip to vigt exactly six
archaeologicd stes—Quin, Ram, Sud, Tunin, Vara ad
Xilat. Thereporter mugt vigit the Stesonea atimein
accordance with thefollowing conditions:

The reporter vidts each Ste exactly once.

The reporter'strip beginsat Quin or dse a Xila.
Thereporter'stripendsa Varaor e a Xila.

The reporter vidgts Varaimmediady after visting Sud.
The reporter visits Sud at sometime after visting Ram.

11.Which of the following isalig of the dtesin an

order in which the reporter can vist them, from the
firg dtevigted to the last Ste visted?
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(A) Quin, Ram, Sud, Vara, Xilat, Tunin
(B) Quin, Sud, Vara, Tunin, Ram, Xila
(©) Ram, Sud, Vara, Tunin, Quin, Xila
(D) Xilat, Ram, Sud, Tunin, Quin, Vara
(B) Xila, Tunin, Ram, Quin, Sud, Vara

12If Sudisvidted immediady after Quin isvisted,
which of the following can be the second site visited?
(A) Quin
(B) Sud
(©) Tunin
(D) Vaa
(B) Xilat

13If Tuninisvidted aslatein the trip as possble,
which of the following must be the third Ste visted?
(A) Quin
(B) Ram
(©) sud
(D) Vaa
(B Xila

14.f Tuninis visted before Xilat is visted and if
exactly one Steisvisted between thevigt to Tunin
and thevisit to Xila, which of thefallowing must be
true?

(A) Quinisvisted second.
(B) Ramisvisted third.
(©) Sud isvisted fourth.
(D) Vaais vigted fifth.
(B) Xilat isvidted sixth.

15If Xilat isvisted immediatdy after Ram is visted.
Which of the following must be true?
(A) Quinisvidted a sometime after Tuninis
visted.
(B) Ramisvidted a sometime ater Quin isvisited.
(©) Tuninisvisted a sometime after Ram is
vigted.
(D) Tuninisvidted & sometime after Sudis
visted.
(B) Xilat isvidted & some time after Sud is visted.
16.If Ram isthe fourth Ste visited, which of the follow-

ing mugt be true?
(A) Quinisthefirg Stevisted.
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(B) Tuninisthe second ste vigited.
(©) Tuninisthethird stevisted.
(D) Vaaisthe sxth ste visited.
(BE) Xilat isthe sixth Ste visted.

17.Which of the following can be true?
(A) Quinis thefifth Stevisited
(B) Ramisthefifth site visited.
(C) sud isthe second Ste vigited.
(D) Xila isthe second Site visited.
(B) Xilat isthefifth Ste visted.

Quedtions 1822

Eight representatives—Gold, Herrera, Jones, Karami,
Lowedl, Nakamura, Orson, and Porter—uwill be scheduled
to present information a four project meetings W, X, Y
and Z. Each representative will be scheduled for exactly
one meeting, and at least one representetive will be
scheduled for each meeting. Themeetingswill be held
one & atime, one after ancther. The order of themeet-
ings and the schedule of representatives for the mesetings
must meet the following conditions:

Mesting W is hed firg, and exactly three representar

tives are scheduled for it.

Meding X ishdd & some time before meding Y.
Gold and Herrera are both scheduled for medting X.
Karami is scheduled for medting Z.

Orson is scheduled for the same meeting as Porter.

18.If the meetings are scheduled in the order W, X, Y,
Z, which of the following can be the schedule of

representatives for the meetings?
w X Y z
(A) Gold lowdl Orson Kaami
Herera  Nakamura Porter
Jones
(B) Jones Gad Orson Kaami
Lowell Herera  Porter Nakamura
(©) Jones Gad Nakamura Orson
Lowell Herrera  Porter Karami
(D) Jones Gad Orson Karami
Lowell Herrera  Porter Nakamura
(E) Jones God Orson Karami
Lowell Herrera  Porter Nakamura
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19.If Orson is scheduled for meeting Y, which of the

following can be true?

(A) Gold is scheduled for the same meeting as
Jones.

(B) Herrerais scheduled for the same medting as
Lowdl.

(C) Jonesis scheduled for the second mesting.

(D) Karami is scheduled for the third mesting.

(E) Lowdl is scheduled for the fourth mesting.

20.If Gold and Jones are both scheduled for the third

meeting, which of the following must be true?

(A) Herrerais scheduled for the first meeting.

(B) Lowel is scheduled for the first mesting.

(©) Porter isscheduled for the first mesting.

(D) Karami is scheduled for the same mesting as
Nakamura

(E) Lowdl is scheduled for the same mesting as
Nakamura

21.1f Nakamurais scheduled for the third mesting and
Karami is scheduled for the fourth mesting, which of
thefallowing must be true?

(A) Herrerais scheduled for the second mesting.

(B) Jonesis scheduled for the second meeting.

(C) Lowdl is scheduled for meeting Y.

(D) Nakamuraiis scheduled for mesting Z.

(E) Porter is scheduled for meding Y.

22.If no other representative is scheduled for the meeting
for which Jonesis scheduled, any of thefollowing
can betrue EXCEPT:

(A) Jonesis scheduled for the third mesting.

(B) Lowdl is scheduled for the second meeting.

(C) Nekamuraiis schedule for the fourth mesting.

(D) Lowel is scheduled for mesting Z.

(E) Nakamuraiis scheduled for mesting Y.

23 Thetown of San Leonardo has recently enacted alaw

banning smoking in al restaurants within town limits.
Since many smokers who normally dinein Sen
Leonardo's restaurants will not want to refrain from
amoking during their medl's, San Leonardo's restaur
rants will undoubtedly lose many patrons and con-
Sderable income.
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Which of the following, if true, most helpsto

strengthen the argument above?

(A) Most residents of San Leonardo who et in res-
taurants are not smokers

(B) Mogt smokers who dine in the company of non-
smokers are willing to refrain from smoking
during their medls.

(©) If thelaw banning smoking in restaurants had
not been enacted, it islikdy thet amore
gringent law banning smoking in dl public
places in San Leonardo would have been
enacted insteed.

(D) Prior to the enactment of the law banning
gmoking in San Leonardo's restaurant, the
town had alaw tha required mogt restaurants
to have nonsmoking sections.

(E) None of the other communities adjacent to San
L eonardo, which have restaurants comparable
to those of San Leonardo, has enacted and
enforces any antismoking legidation.

24. Children whose hiologicd parents both have Tic

Syndrome Z (TSZ), which is characterized by the
involuntary contraction of certain muscles, are about
four times more likely to develop such contractions
than are children whosebiologicd parents do not
have TSZ, Itis likdy, therefore, that predispostion
to TSZ isan inherited trait.

Which of the following, if true, would most strengthen

the conclusion above?

(A) Children whose parents have TSZ are more
likely to devdlop TSZ if they are under unusud
sressa schoal or a home then if they are nat
under such gress.

(B) Children whose biologicd parents do not have
TSZ ae morelikdly to devdlop TZ if they are
raised by adoptive parents with TSZ then if
they are raised by their biologica parents.

(C) Children whosebiologicd parentshave TSZ are
aslikey to develop TSZ if they areraised by
adoptive parentswho do not have TSZ asif
they are raisad by their biologica parents.

(D) Children whose biologicd parents have TSZ and
who develop TSZ usudly avoid developing a
severe form of the syndrome if they seek



GRE10-2

trestment for TSZ shortly after developing the
firg dgnsof it.

(E) Children with TSZ whose hiologicd parents do
not have TSZ arelesslikdy to have the syn-
drome diagnosed when symptomsfirst appear
than are children with TSZ whose biologica
paents have TSZ.

25 Playing eighteenth-century music on the insruments of
that period provides vduebleinformation about how the
music originaly sounded. Eighteenth-century indruments
cannot be played without being restored, however, and
resoring such an indrument destroysdl of theinformetion
thet researchers could obtain from it about eghteenth-
century instrument-making techniques.

If the statements above are true, which of the following

must be true on the basis of them?

(A) Eighteenth-century ingtruments cannot be used to
provide information about the origind techniques
usd in playing such indruments if they have
been restored.

(B) Eighteenth-century instruments that have been
restored can provide information only about how
eghteenth-century music originaly sounded

(C) Eighteenth-century instruments are the only source
of information about the instrument-making tech
niques of thet period.

(D) An eighteenth-century instrument thet has not been
restored can provide more information than can
one that has been restored.

(BE) An eighteenth-century instrument cannot srve asa
source of new information about eghteenth-century
ingrument-meking techniques onceit can be played

SECTION 5
Time-30 minutes
30 Quedtions

Tothe nearest hundrecth, p =314 and +/10 =316

1 p°? 10

A marbleisto be drawn a random from a beg that
contains 2 yelow marbles, 4 blue marbles, 6 green
marbles, and no other marbles.
2. The probability that the The probability thet the
marble drawn will be marble drawvn will be

green ydlow or blue
, 250 250
. 1 1
3 2
X+y+n=15
x+y+k=9
4. n-k 6

Inthe rectangular coordinate system, line k passes
through the points (0,0) and (4,8); line mpasses through
the points (0,1) and (4,9).

5. Thedopeof linek Thedopedf line m

The ertices of an equilaterd triangle areon acirde,

6. Thelength of asde The diameter of
of the triangle thedrde

1

— 0.09

11

o
s A
F Z R

XQY and ZYR are equilaterd triangles, and the ratio of ZR
toPRis1to4.
8. Thepaimgeraf  XQY Thepaimder

of pardldogram PXYZ
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9.

Xty 2x+ Y

10.

In acertain store, computer X costs 30 percent more
than computer Y, and computer Y costs 30 percent
more than computer Z.

Thecost of computer X~ The cost of computer Y
minus the cogt of minus the cost of
computer Y. computer Z.

x?y<0

4x

13.

m is a podtive integer lessthan 4.

m+2

(m+2)"

14.

N

The median of 10, 15, x, and y is 185, and x<y.

15.

16.

X 22

The cog, isdadllars, for and gppliance repair & acatan
company is 1.2p+ 20h, where pisthe wholesde price of
the parts, in dallars, and histhe number of hoursit takes
to repair the gppliance. What isthe cogt of repairing an
goplianceif the wholesde price of the partsis $15 and it
tekes 2 hoursto repair it?

(A) $12

(B) $18

(© %20

(D) $40

(E) $58

49

17. For what vaue of xwill 8+ (x-3) 2 have the least
vaue?
(A)-3
(B)0
©3
D)5
(E)8

18. How many integers from 3 to 30, indusive, are odd?
(A) 13
(B) 14
(© 15
(D) 16
E 17

A(—E,DN x

19. In the figure above, ABCE isasquare What are the
coordinates of point B?
(A) (-42)
(B) (-24)
©) (-26)
(D) (4,-6)
(B 6-2

20.3.7(10" )=
(A) 370,000
(B) 3,700,000
(C) 37,000,000
(D) 370,000,000
(E) 3,700,000,000
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Questions 21-25 refer to the following graph.

CAR REGISTRATIOMNS IN COUNTRY =
Mote: Each car is Registered to one owner anly.)

50 &0
43.1«{:
40 A 40
I‘.
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2.

2.

1960 1955 1960 1965 1970 1975 14980 1986
Mote: Dirawn to scale.

For how many of the years shown after 1950 wastherea
decrease from the previous year in the number of
registered cars?

(A) Nine

(B) Eight

(©) Seven

(D) Six

(E) Five

Theratio of the populétion per registered car in 1985 to
thet in 1975 was mogt nearly

(A) 055

(B) 0.65

(©0.75

(D) 0.85

B 095

From 1972 to 1985, the percent increase in the number
of regigtered carswas most nearly

(A) 60%

(B) 50%

(©) 45%

(D) 35%

(B) 15%

50

24. From 1950 to 1985, the populetion of Country X

increased by gpproximately how many million people?
(A)45

(B) 80

(C) 165

(D) 200

(B) It cannot be determined from the information given.

25. If the number of registered cars were to increase yearly

through the year 2000 at the same average annud rate
shown for the period 1981- 1985, for which of the
following years would the number of registered carsbe
closest to 76 million?

(A) 1995

(B) 1996

(C) 1997

(D) 1998

(E) 199

26. A rectangular field is 400 feet long and 300 feet wide. If

asquarefield has, the same perimeter asthe rectangular
fild, what isthe length, in feet, of each Sde of the square
field?

(A) 175

(B) 350

(© 20042
(D) 35042
(E) 10043
Distance(in miles)

From Centerville
10t + 115

Freight

Train

Passenger| -20t + 150

Train

27. The expressionsiin the table above give the distance of

each of two trains from Centerville a t hours after 12:00
noon. At what time will the trains be equidigant from
Centerville?
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(A) 1:30 pm.
(B) 3:30p.m.
(©) 5:10p.m.
(D) 850 p.m.
(E) 11:30 p.m.

28.In 1982, if the 1.8 billion dollars collected as child

support payments was only 10 percent of the totd
court-ordered payments due, gpproximately how many
billion dollars of court-ordered paymentsfor child
support were not collected?

(A)16

(B) 144

(©)16.2

(D)17.2

(B) 180

30

29. If each shaded circular region in the figure above has

radius 5, then the totdl area of the shaded regionsiswhat
fraction of the area of the squareregion?

(A) —

|'c'|;‘)'c

(B)

° 8

©

—~~

"}

ol o
o

—~~

AL,
|'—‘ Wk
+

= wha istheratio of xto y?

1 14
y 3 9§ Yo
(A)3to4
(B)2to3
(©)1to2
(D) 1t08

(B)1t0%s

4x
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SECTION 6
Time-30 minutes
38 Quedtions

1. Some activids bdieve that because the hedlth-care
system has become increasingly-——- to those it
serves, individuas must ---- bureaucratic impedk
mentsin order to develop and promote new therapies.
(A) attuned.. avoid
(B) inimicdl.. utilize
(C) unresponsive ..circumvent
(D) indifferent.. supplement
(E) sengitized. forsake

2. The acts of vanddism that these pranksters hed
actudly ---- were indgnificant compared with those
they had ---- but had not attempted.

(A) hidden.. renounced

(B) advocated .. meditated

(©) inflicted.. dismissed

(D) committed.. effected

(E) perpetrated .. contemplated

3. Though one cannat say that Micheangdo was an
impractica designer, hewas, of dl nonprofessond
architects known, the mogt - inthat hewasthe
least condtrained by tradition or precedent.

(A) pragmatic
(B) adventurous
(©) empiricd
(D) silled

(E) learned

4. Before adapting to changesin vaues, many prefer to
----, t0 ---- the universdly agreed-on principles

that have been uphdd for centuries.
(A) innovete.. protect

(B) reds ..defend

(C) ponder .. subvert

(D) vadillae ..publicize

(E) revert .. ignore

5. Although the records of colonid New England are
---- in comparison with those available in France
or England, the records of other English coloniesin
Ameicaareeven more -—-.
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(A) sporadic .. irrefutable

(B) sparse. incontrovertible
(C) ambiguous.. authoritative
(D) sketchy.. fragmentary

(E) puzzling .. unquestionable

6. High software prices are frequently said to -------
widespreed illegal copying, although the opposite
--- that high prices are the cause of the copying - is
equdly plausble.

(A) contribute to

(B) result from

(C) corrdate with

(D) explain

(E) precede

7. Because egrly United States writers thought that the
mark of grest literature was grandiosity and eegance
not to be found in common speech, they -— the
vernacular.

(A) dissected

(B) avoided

(C) misunderstood

(D) investigated

(BE) exploited

8. OBSTRUCT: PROGRESS:

(A) reved: information
(B) poligh: illumination
(C) implicate: guilt

(D) inspire: artigry

(B) stunt: growth

9. INTERVIEW: APPLICANT::

(A) recitd: pianist

(B) exercise ahlete
(©) audition: actor
(D) manuscript: writer
(E) flight plan: pilot

10. COMBUSTIBLE: IGNITE::

(A) impermegble: saturate
(B) impenetrable: pierce
(C) mdleable: shape

(D) rigid: gretch

(E) derile: extract
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11. SLACKEN: TENSION:
(A) rarefy: expanson
(B) blunt: sharpness
(C) obscure: doudiness
(D) quicken: animation
(E) ocillate: rotation

12. BIGOT: TOLERANCE:
(A) scoundrdl: misdeed
(B) liar: honesty
(C) brat: annoyance
(D) outcast: repect
(E) snitch: information

13 IMPROVEMENTS MASTERY ::

(A) efforts exertion
(B) savings wedth

(C) performance: tdent
(D) practice: intention
(E) diversfication: proficiency

14. DILETTANTE: SUPERFICIALITY::

(A) patisan: bias

(B) crusader: passivity

(C) libertarian: authority
(D) champion: restlessness
(E) s;ge: argumentativeness

15. WINNOW: CHAFF:
(A) ferment: acohal
(B) skim: cream
(C) pare: fruit
(D) refine ail
(E) filter: impurities

16. STANZA: LINE:
(A) essay: theme

(B) scene monologue
(C) play: vignette

(D) volume: issue

(E) concert: program
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(This pessageis adgpted from an artide published in 1981)

Theterm "remote senang’ refersto the techniques of
messurement and interpretation of phenomenafrom adis-
tance. Prior to the mid-1960's the interpretation of film
imageswasthe primary meansfor remote senaing of the

(5) Earth'sgedlogic fegtures. With the development of the
optomechanicd scanner, scientists begean to condruct digitd
mulitigoedtrd images using detabeyond the sengitivity range
of vishblelight photogrgphy. Theseimages are condructed
by mechanicdly digning pictorid representations of such

(10)phenomena asthe reflection of light waves outdde the vis-
ible spectrum, therefraction of radio waves, and the daily
changesin temperaure in areas on the Earth's surface
Digitd multispectrd imaging hes now becomethe besic
todl in geologic remote sensing from satdllites.

(15) The advantage of digitd over photographic imaging is
evident: the resuiting numericd detaare precisdy known,
and digitd detaare nat subject to the vagaries of difficult-
to-control chemicd processing. With digital processing, itis
posshleto combine alarge number of oectrd imeges The

(20)acquistion of the first multigpectral digital data set from
the multispectrd scanner (MSS) aboard the sadlite
Landsat in 1972 consequently dtracted the attention of the
entire geologic community. Landsst MSS dataare now
being gpplied to avariety of geologic problemsthet are

(25)difficult to solve by conventiona methodsadone. These
indude speific problemsin minerd and energy resource
exploration and the charting of gladersand shdlow sees

A more fundamenta gpplication of remote sendngisto
augment converttionad methods for geologic mgpping of

(30)large aress. Regiond maps present compositiond, struc-
turd, and chronologicd information for recongtructing
geologic evalution. Such recondructions have important
practical applications because the conditions under which
rock unitsand other structurd festures are formed influence

(35)the occurrence of ore and petroleum deposits and affect the
thickness and integyity of the gedlogic mediain whichthe
depogtsarefound.

Genlogic mgps incorporate alarge, varied body of soe-
dficfidd and laboratory messurements, but the mgps must

(40) be interpretative because fidld measurements are dways
limited by rock exposure, accessihility and labor resources.
With remote-sendng techniquesit is possibleto ootain
much gedlogic information more effidently than it can be
obtained on the ground. Thesetechniquesdso fadilitatle

(45)overdl interpretation. Since detailed geologic mepping is
generaly conducted in sl aress, the continuity of
regiond featurestha have intermittent and varicble expres-
Sonsisoften nat recognized, but in the comprehendve
viewsof Landsat images these continuities are gpparent.

(50)However, some criticad information cannot be obtained
through remote sensing, and severd charadterigtics of the
Landsst MSSimpose limitations on the acoistion of diag-
nodic data. Some of these limitations can be overcome by
designing satdllite systems specificaly for geologic pur-

(55)pases; but, to bemod effective, remote-sendging detamust
dill be combined with detafrom fidd surveysand labora:
tory tegts the techniques of the earlier twentieth century.

17.By using the word "interpretative'in line 40, the

author isindicating which of the following?

(A) Some maps are based more on data from aerid
photography than on data from fidd operations.

(B) Some maps are based dmost exdusively on labor-
atory messurements.

(C) Some maps are based on incomplete data from
field observations.

(D) Some maps show only large geologic fegtures.

(E) Some maps can be three-dimensiond.

18. Withwhich of the following statements about geologic
mapping would the author be mogt likely to agree?
(A) Geologic mapping is bascdly anart and not a

science.

(B) Geologic mapping has not changed significantly
sncethe early 1960's.

(C) Geologic mapping will have limited practical
goplications until remote-sending systemsare
perfected.

(D) A developmentd milestone in geologic mapping
was reached in 1972.

(E) Without the present variety of remote-sensing
techniques, geologic mapping could not be done.

19. According to the passage, measurements of which of
the following can be provided by the optomechanica
scanner but not by visble-light photography?

(A) Theamount of visble light reflected from oceans

(B) The density of foliage in remote aress on the
Eath'ssurface

(C) Daily temperature changes of aress on the Earth's
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surface.

(D) The degree of radioactivity emitted by exposed
rocks on the Earth's surface.

(E) Atmospheric conditions over large landmasses

20. It can beinferred from the passage that a mgjor disad
vantage of photographic imaging in geologic mapping
isthat such photography

(A) cannot be usal & night

(B) cannot focus on the detals of ageologic area

(C) must be chemicdly processed

(D) isdways enhanced by digitd recongruction

(E) cannot reflect changes over extended periods of time

21. It can be inferred from the passage that Landsat imeges

differ from conventiona geologic mapsin that Landsat

imeges

(A) reved the exact Sze of petroleum deposts and ore
deposits

(B) indicate the continuity of featuresthat might not
otherwise be interpreted as continuous

(C) predict the movements of glaciers

(D) provide highly accurate data about the occurrence
of minerd deposits

(E) reved the integrity of the mediain which petro-
leum deposits and ore deposits are found

22. The passage provides information about each of the

following topics EXCEPT

(A) the principa method of geologic remote sensing
prior to the mid-1960's

(B) some of the phenomena messured by digita multi-
gpectrd imagesin remote sensng

(C) some of the practica uses of regiond geologic
maps

(D) the kinds of problemsthat are difficult to solve
solely through conventiona methods of geologic
mapping

(E) the specific limitetions of the Landsat multi-
spectrd scanner

23. The passage suggests which of the following about the

"conventiona methods' mentioned in line 29?

(A) They conggt primarily of field surveysand
|aboratory measurements.

(B) They are not useful in providing information

necessary for recongtructing geologic evolution

(C) They have rardly been used by geologigts Since
1972.

(D) They are used primarily to gather compositiond
information about geologic feetures.

(E) They arelimited primarily because of difficulties
involved in interpreting film images.

Although the devel opment of new infragiructure (such
public facilities as power plants, schools, and bridges) is
usudly determined by governmenta planning, sometimes
this devel opment can be planned more flexibly and redis-

(5) ticdly by private investors who anticipate profit from the
collection of user fees. Such prdfits can contributeto the
finencing of moreinfragructure if demand proves greet
enough, wheressthe rductance of developerstoinvestin
such projects can sgnd thet additiond infrastructureisnot

(20) needed. During the economic boom of the 1980's, for
example the date of Virginiaauthorized privete deve opers
to build a$300 million toll road. These developers obtained
the nesded right-of - way from property owners but by 1993
they il had not raised the necessary financing. The urwill-

(15)ingness of invetorsto finencethis project does not negate
theviability of privatdy finenced roads rather, it illudrates
avirtueof privatefinandng. If aroad gppears unlikey to
attract enough future traffic to pay for theroed, then it
should not be buiilt.

24.The primary purpose of the passage isto

(A) build a cese for increasing the devel opment of
new infragtructure

(B) advocate an dternaive to government finencing of
infrastructure

(C) explain the falure of a privately financed venture

(D) suggest the types of infrastructure most gppro-
prigte for private financing

(E) argue againgt government restrictions on devet
oping new infrastructure

25. The passsgeimpliesthet the “ governmentd planning”
mentioned in line 3 may lead to which of the following
problems?

(A) Improper use of profits derived from user fees

(B) Unduly dow development of necessary new
infradtructure

(C) Unredlidtic decisons about developing new
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infrastructure

(D) Incorrect predictions about profits to be ganed
from user fees

(E) Obdtruction of privete financing for the devet
opment of new infrastructure

26. According to the passage, which of thefollowing is

true of the tall road mentioned in line 12?

(A) After it was built, it attracted too littletraffic to
pay for its congtruction.

(B) It was partidly financed by the Sate of Virginia

(©) Its devd opment was authorized during an eco-
nomic boom.

(D) Its condruction was controversa among locd
resdents.

(E) Itsdevel opers were discouraged by governmenta
restrictions on acquiring the necessary land.

27. The passage suggests thet which of the following
would occur if aprivatdy financed bridge that proved
to be profitable failed after anumber of yearsto meat
the demands of traffic?

(A) Private devel opers who financed the bridge would
rely on governmentd authorities to develop new
infrastructure.

(B) User feeswould be increased o that usage would
become more codlly.

(C) Governmentd authorities would be reluctant to
rely on private contractors to develop anew
bridge.

(D) The success of the project would be jeopardized
by public disstisfaction with the project's
adequecy.

(E) Profits generated by user feeswould be used to
help finance the congtruction of new infrastruc-
ture to dleviae the traffic problem.

28. EVOKE:
(A) try to hinder
(B) fal to dicit
(©) refusetoimplore
(D) pretendto agree
(E) atempt to cam

20. OSTENTATION:
(A) audterity
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(B) wisdom

(©) illuminetion
(D) superficidity
(E) agitation

30. BRISTLE:
(A) cower
(B) feint
(C) equivocate
(D) coerce
(E) apprise

31. AGGRANDIZE:
(A) conciliate
(B) undermine
(C) relegate
(D) remain ungpologetic
(E) remain inexplicit

32. ENDEMIC:
(A) undeniable
(B) intermittent
(C) anomdous
(D) foreign
(E) unexpected

33. BELLICOSE:
(A) enervated
(B) didoyd
(C) honest
(D) likely to be generous
(E) inclined to make pesce

34. ABURE:
(A) affirm
(B) caale
(©)inds
(D) pronounce
(E) shout

35. SALUTARY
(A) unexpected
(B) trandtory
(C) unhedthy
(D) disoriented
(E) dilapidated
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36. LUGUBRIOUSNESS:
(A) orderliness
(B) shdlowness
(C) beievahility
(D) chearfulness
(E) dedication

37. PRESCIENCE:
(A) acuity
(B) myaopia
(C) vadillaion
(D) tardiness
(E) inhibition

38.INVETERATE:
(A) abitrary
(B) occasond
(C) dbvious
(D) progressive

(E) compelling
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